2/8

Friday, February 8, 2019 14:21

(XI Ob, /")

EM" M ’F X —QEO)DO:! e o’«S\\MpU’ﬂ/\/\'s Nakirno .P[)(] s Coumdn bt

&Vn’ ]C-[{%] Cs wbly. Nete: o g=siwmple Foovs mble

Tm SH» = % y: plf=y)

e J% (S piwmpley, s wrs o c{»P\A ﬂFM'ML?/J
0 s wob sl bt oS Pl am {'[XJ s wumﬁ’ﬂbfy e,

Lot Yoo Yoo e T dichct omunts o £ [X].

3 wkfn:nz_l‘\)i,w

%HT)[ So |fdu = lim nZ‘x alfzy) = Ty wly) .
5

n—so0e =i

BQPPO L»_,\,; ‘s TL\W-W

Lk 4 e L f{?;w% Thaom fﬁ%fﬁjﬂu

BAA 3Tt e 4% [ e T S

\»Jreauwﬁw 4 R - Valwd fus

Lt ][:X——f—rp.



Dk ‘FCX): WX ?f((X), 03/ ]CA(X) = wonx - fX) 03} YxeX.

f=f=1 f{-ul
Ramorcks Lk £ X—=R  § ool P e bl

P D) recallhadd  wow T w1l is bl TF 0 2aen f oo
© Sppese {4 eewmble
Lk o @ 117w 02 0T Lo % Y SF

Thum LPn‘ LP\,\ —"F So ‘F s o \\\N\r"/; wa bl PM

R e
3'\N\\pu_;
R- v odaned

Defn: LA f \—F

("*\ to Sang J"‘Fel/“_ s J-u)”“/‘ﬁ'—) Wieens F I's ML)(-L )

R
R L e R (P A

¢) 'h) Q’L«é ’pl& /L‘jkk ™ ‘Sfi/\ 'S JVFVW") & ‘F‘W"-(.‘

/\Mm A . 0 inx ad
= e 2 s, e [Toy

&) X X -
DOS X
M
So j o is wot defnad
0
oo
. . L
[/\)MlSJQ;FM_JM I SM_XJ,(:\W SLWWJ o
=00 * z



Ruvark Lt X =R Seppose [ o5 dofred
Tnn [l 2 [ip1d.

Since \“ dun lflgmﬂ ’Jf-“jf"lﬁ

[£ 4

K"_’M&" M ']:X_—%_‘?:T\NV\A <F\lS/V-’fLJ/L ;H' Fl‘smlolktf fl-FlJ/u<‘po

Ll = (64 fra, - f***f“”/“ﬁ*“*‘

{.(%% i-&jc ‘FX"ﬁ_lE SUPPOSQ JWLJ/A, ‘s JQ}!NJ. \/Q,J‘l C e [P
h/m fc][’cl//\ (‘SQ]J-/‘[ZM & C?el/,»: cf.,cd/,.
ol of = cf’ - of

\/\)WV\\\/\b WQ%‘LL C = ‘L—DO.
g

Mx\'- J‘“C+J°Jf"=‘["uf* +J‘jc|ﬂ Whine f'yy__,(_oo,oo] art wble

e = [T e e

XN
Lwn Supose b= by whow b X2 (00090 w by oo

and b= flodu s defrad

Thain S\'\n‘ilf - j\"zd/"‘ = S\V\ °\/w

o b le

o \/\A(M EER N {k(x\'o]: WA X {kl(x)—kz(xl,o}s W< {l, (0,0} = (x)
8,\,W§\fwko Wix) € ). Thws jl,\'AjA 5“24/“ < oo
N\ow \/\.‘\’\z:h:l'\-'— l/\- So L\|+l"-: L\J'-}l,'z Seo

L P LR (R Db fuadn = firg [k g

wwﬂm% R —Valwed

Page 3



Lk fix— g Than oo =(£6,. £00) W ek LiX =R
Fon By bl B LD ekl m b
H =) Soppose s mble,
A B [ R e SRS
©) seprese £ ae wble

’y—[(f*w b)) x"’x(a“d;bg):' = ﬁ‘ﬂ:[((’*k'bu)] = a‘ ‘
k=1

(a,b)

Lt G be aw opom <R LA Uz{

(6\|‘o) c G Y = (a0 ¢ @d‘ be O,J "-ao}

M 0 U= G e £706]- ofp g eUle A



